ROYAL BANK OF SCOTLAND GROUP PLC Form 6-K June 29, 2012

## FORM 6-K SECURITIES AND EXCHANGE COMMISSION Washington D.C. 20549

Report of Foreign Private Issuer

Pursuant to Rule 13a-16 or 15d-16 of the Securities Exchange Act of 1934

For the month of June 2012

Commission File Number: 001-10306

The Royal Bank of Scotland Group plc

RBS, Gogarburn, PO Box 1000 Edinburgh EH12 1HQ

(Address of principal executive offices)

Indicate by check	mark whether the registrant Form 20-F X	files or will file annual re Form 40-F	ports under cover of Form 20-F or Form 40-F
	roim 20-1 A	1.01111.40-1.	
Indicate by check 101(b)(1):	•	mitting the Form 6-K in pa	aper as permitted by Regulation S-T Rule
Indicate by check 101(b)(7):	_	mitting the Form 6-K in pa	aper as permitted by Regulation S-T Rule
•	•	•	tion contained in this Form is also thereby b) under the Securities Exchange Act of 1934.
	Yes	No X	
If "Yes" is marked	l, indicate below the file nun	nber assigned to the regist	erant in connection with Rule 12g3-2(b): 82-

The following information was issued as Company announcements in London, England and is furnished pursuant to General Instruction B to the General Instructions to Form 6-K:

Exhibit No. 1 Total Voting Rights released on 31 May 2012

Exhibit No. 2 Director/PDMR Shareholding released on 1 June 2012

Exhibit No. 3 Total Voting Rights released on 7 June 2012

Exhibit No. 4 Director/PDMR Shareholding released on 8 June 2012

Exhibit No. 5 Director/PDMR Shareholding released on 19 June 2012

Exhibit No. 6 Total Voting Rights released on 19 June 2012

Exhibit No. 7 Notification of Major Interest in Shares released on 20 June 2012

Exhibit No. 8 Publication of Prospectus released on 26 June 2012

Exhibit No. 1

The Royal Bank of Scotland Group plc

Total Voting Rights - Conformity with the Disclosure and Transparency Rules

In conformity with the Disclosure and Transparency Rules, The Royal Bank of Scotland Group plc ('RBSG') hereby notifies the following in respect of its issued share capital with voting rights as at 31 May 2012:-

Share Class and nominal value	Number of Shares issued	Voting rights per share	Total Voting rights
			31 May 12
Ordinary shares of £0.25	59,554,319,127	1	59,554,319,127
11% Cumulative Preference Shares of £1	500,000	4	2,000,000
5.5% Cumulative Preference Shares of £1	400,000	4	1,600,000
Non-cumulative Preference Shares of £1 (series 1)	54,442	1	54,442
Non-cumulative Preference Shares of €0.01 (Series 1)	1,250,000	4	5,000,000
Non-cumulative Preference Shares of €0.01 (Series 2)	784,989	4	3,139,956
Non-cumulative Preference Shares of €0.01 (Series 3)	9,429	1	9,429
Non-cumulative Preference Shares of US\$0.01 (Series M)	23,125,869	4	92,503,476
Non-cumulative Preference Shares of US\$0.01 (Series N)	22,113,160	4	88,452,640
Non-cumulative Preference Shares of US\$0.01 (Series P)	9,883,307	4	39,533,228

Non-cumulative Preference Shares of US\$0.01 (Series Q)	20,646,938	4	82,587,752
Non-cumulative Preference Shares	10,163,932	4	40,655,728
of US\$0.01 (Series R) Non-cumulative Preference Shares	26,449,040	1	26,449,040
of US\$0.01 (Series S) Non-cumulative Preference Shares	51,245,839	1	51,245,839
of US\$0.01 (Series T) Non-cumulative Preference Shares	10,130	1	10,130
of US\$0.01 (Series U) Series 1 class B shares of £0.01	51,000,000,000	N/A	N/A
Total:	110,720,956,202		59,987,560,787

of which none are held in Treasury.

The above figures may be used by shareholders of the respective classes of shares as the denominator for the calculations by which they will determine if they are required to notify their interest in, or a change to their interest in their shareholding, under the FSA's Disclosure and Transparency Rules.

#### Exhibit No. 2

# NOTIFICATION OF TRANSACTIONS OF DIRECTORS, PERSONS DISCHARGING MANAGERIAL RESPONSIBILITY OR CONNECTED PERSONS IN ACCORDANCE WITH DTR 3.1.4R AND DTR 3.1.2R

- 1. Name of the issuer The Royal Bank of Scotland Group plc
- 2. Name of person discharging managerial responsibilities/director

Nathan Mark Bostock

3. Indicate whether the notification is in respect of a holding of the person referred to in 2 above or in respect of a non-beneficial interest

In respect of a holding of the person referred to in 2

4. Description of shares (including class), debentures or derivatives or financial instruments relating to shares

Ordinary shares of £0.25

5. Name of registered shareholder(s) and, if more than one, the number of shares held by each of them

Nathan Mark Bostock

6. State the nature of the transaction

Sale of 125,793 ordinary shares at £0.2021 per share effected to meet an immediate income tax and National Insurance liability, which arose on the release of 241,053 ordinary shares awarded under The Royal Bank of Scotland Group plc 2009 Restricted Share Plan. Mr Bostock has retained 115,260 ordinary shares.

7. Number of shares, debentures or financial instruments relating to shares acquired

241,053

8. Number of shares, debentures or financial instruments relating to shares disposed

125,793

9. Date and place of transaction

1 June 2012

10. Date issuer informed of transaction

1 June 2012

11. Name of contact and telephone number for queries

Group Media Relations - +44(0)131 523 4205

Name and signature of duly authorised officer of issuer responsible for making notification

Aileen Taylor, Group Secretary

Date of notification - 1 June 2012

#### Exhibit No. 3

The Royal Bank of Scotland Group plc

Total Voting Rights - Conformity with the Disclosure and Transparency Rules

In conformity with the Disclosure and Transparency Rules, The Royal Bank of Scotland Group plc ('RBSG') hereby notifies the following in respect of its issued share capital with voting rights as at 7 June 2012:-

Share Class and nominal value	Number of Shares	Voting rights	Total Voting rights
	issued	per share	07 June 12
Ordinary shares of £1	5,955,431,912	4	23,821,727,648
11% Cumulative Preference Shares of £1	500,000	4	2,000,000
5.5% Cumulative Preference Shares of £1	400,000	4	1,600,000
Non-cumulative Preference Shares of £1 (series 1)	54,442	1	54,442
Non-cumulative Preference Shares of €0.01 (Series 1)	1,250,000	1	1,250,000
Non-cumulative Preference Shares of €0.01 (Series 2)	784,989	1	784,989
Non-cumulative Preference Shares of €0.01 (Series 3)	9,429	1	9,429

Edgar Filing: ROYAL BANK OF SCOTLAND GROUP PLC - Form 6-K

Non-cumulative Preference Shares of US\$0.01 (Series M)	23,125,869	1	23,125,869
Non-cumulative Preference Shares	22,113,160	1	22,113,160
of US\$0.01 (Series N) Non-cumulative Preference Shares of US\$0.01 (Series P)	9,883,307	1	9,883,307
Non-cumulative Preference Shares of US\$0.01 (Series Q)	20,646,938	1	20,646,938
Non-cumulative Preference Shares of US\$0.01 (Series R)	10,163,932	1	10,163,932
Non-cumulative Preference Shares of US\$0.01 (Series S)	26,449,040	1	26,449,040
Non-cumulative Preference Shares of US\$0.01 (Series T)	51,245,839	1	51,245,839
Non-cumulative Preference Shares of US\$0.01 (Series U)	10,130	1	10,130
Total:	6,122,068,987		23,991,064,723

Total: 6,122,068,987 23,991,064,723

of which none are held in Treasury.

There are also 51,000,000,000 Series 1 class B shares of £0.01 in issue which carry no voting rights.

The above figures may be used by shareholders of the respective classes of shares as the denominator for the calculations by which they will determine if they are required to notify their interest in, or a change to their interest in their shareholding, under the FSA's Disclosure and Transparency Rules.

#### Exhibit No. 4

# NOTIFICATION OF TRANSACTIONS OF DIRECTORS, PERSONS DISCHARGING MANAGERIAL RESPONSIBILITY OR CONNECTED PERSONS IN ACCORDANCE WITH DTR 3.1.4R AND DTR 3.1.2R

- 1. Name of the issuer The Royal Bank of Scotland Group plc
- 2. Name of person discharging managerial responsibilities/director

#### Christopher Paul Sullivan

3. Indicate whether the notification is in respect of a holding of the person referred to in 2 above or in respect of a non-beneficial interest

In respect of a holding of the person referred to in 2

4. Description of shares (including class), debentures or derivatives or financial instruments relating to shares

Ordinary shares of £1.00

5. Name of registered shareholder(s) and, if more than one, the number of shares held by each of them

The Royal Bank of Scotland plc Trustee Account BAYE and Profit Sharing

Participation in The Royal Bank of Scotland Group plc Share Incentive Plan 7. Number of shares, debentures or financial instruments relating to shares acquired 57 8. Price per share or value of transaction £2.1905 9. Date and place of transaction 7 June 2012 10. Date issuer informed of transaction 7 June 2012 11. Name of contact and telephone number for queries Aileen Taylor, Group Secretary 0131 626 4099 Name and signature of duly authorised officer of issuer responsible for making notification Aileen Taylor, Group Secretary Date of notification 8 June 2012 Exhibit No. 5 NOTIFICATION OF TRANSACTIONS OF DIRECTORS, PERSONS DISCHARGING MANAGERIAL RESPONSIBILITY OR CONNECTED PERSONS IN ACCORDANCE WITH DTR 3.1.4R AND DTR 3.1.2R

- 1. Name of the issuer The Royal Bank of Scotland Group plc
- 2. Name of person discharging managerial responsibilities/director

Ellen Alemany

3. Indicate whether the notification is in respect of a holding of the person referred to in 2 above or in respect of a non-beneficial interest

In respect of a holding of the person referred to in 2

6. State the nature of the transaction

4. Description of shares (including class), debentures or derivatives or financial instruments relating to shares

Ordinary shares of £1.00

5. Name of registered shareholder(s) and, if more than one, the number of shares held by each of them

Computershare Nominee Service Account

6. State the nature of the transaction

Vesting of conditional share awards under The RBS 2010 Deferral Plan made on 5 March 2010. The number of ordinary shares received has been reduced by the amount required to discharge Ms Alemany's relevant tax liability. Following this reduction, Ms Alemany has received 100,754 ordinary shares.

7. Number of shares, debentures or financial instruments relating to shares acquired

100,754

8. Date and place of transaction

18 June 2012

9. Date issuer informed of transaction

18 June 2012

10. Name of contact and telephone number for queries

Group Media Relations - +44(0)131 523 4205

Name and signature of duly authorised officer of issuer responsible for making notification

Aileen Taylor, Group Secretary

Date of notification - 19 June 2012

# NOTIFICATION OF TRANSACTIONS OF DIRECTORS, PERSONS DISCHARGING MANAGERIAL RESPONSIBILITY OR CONNECTED PERSONS IN ACCORDANCE WITH DTR 3.1.4R AND DTR 3.1.2R

- 1. Name of the issuer The Royal Bank of Scotland Group plc
- 2. Name of person discharging managerial responsibilities/director

Nathan Mark Bostock

3. Indicate whether the notification is in respect of a holding of the person referred to in 2 above or in respect of a non-beneficial interest

In respect of a holding of the person referred to in 2

4. Description of shares (including class), debentures or derivatives or financial instruments relating to shares

Ordinary shares of £1.00

5. Name of registered shareholder(s) and, if more than one, the number of shares held by each of them

Computershare Nominee Service Account

6. State the nature of the transaction

Vesting of conditional share awards under The RBS 2010 Deferral Plan made on 5 March 2010. The number of ordinary shares received has been reduced by the amount required to discharge Mr Bostock's relevant tax liability. Following this reduction, Mr Bostock has received 27,721 ordinary shares.

7. Number of shares, debentures or financial instruments relating to shares acquired

27,721

8. Date and place of transaction

18 June 2012

9. Date issuer informed of transaction

18 June 2012

10. Name of contact and telephone number for queries

Group Media Relations - +44(0)131 523 4205

Name and signature of duly authorised officer of issuer responsible for making notification

Aileen Taylor, Group Secretary

Date of notification - 19 June 2012

# NOTIFICATION OF TRANSACTIONS OF DIRECTORS, PERSONS DISCHARGING MANAGERIAL RESPONSIBILITY OR CONNECTED PERSONS IN ACCORDANCE WITH DTR 3.1.4R AND DTR 3.1.2R

- 1. Name of the issuer The Royal Bank of Scotland Group plc
- 2. Name of person discharging managerial responsibilities/director

Paul Robert Geddes

3. Indicate whether the notification is in respect of a holding of the person referred to in 2 above or in respect of a non-beneficial interest